MATH 238 Sochacki Exam 1 Name_ KEY WesT
May 30, 2014 In Class Part 100 Points (Print) (2 points)

All necessary work must be shown for credit and must represent the question asked. Your work MUST be
NEAT. You may NOT use computets, notes or texts. Calculators can be used only to help with arithmetic.

I have neither received nor given help on this exam. OOO’YL .
(Signature) (2 points)
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1.If 4 =[1 -2 1 J and det( E4) =5, what is det( £ )? (12 points)
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2. Let Ae M, with det(4) = 0. Write down 4 statements that are equivalent to this statement. (12 points)
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3. Show whether or not W = {(1 “ ]Ia € R} is a subspace of R?. (12 points)
-a
- ]

1 2 I -1y (0 -1 (1 O
4. Show whether or not A=(3 4} is_inthespanof{[o 2),[1 1],[__1 _J}.(Hpoints)
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5. Show whether or not the columns of 4 = ( !
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_4] are linearly independent or dependent. (12 points)
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6.Leét 4 =|-2 4 —4|. Give a basis for NS(4). Show whether or not &=| -2 |is in span(CS(A4)).
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(12 points)
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8. Show whether or not B = {1 ~x,14+x,4- 3x2_} is a basis for P,. Give the coordinates of 1+4x — x*in terms of
B . (12 points)
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